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Instructions for Candidates

1.
2.

Write your Roll No. on the top immediately on receipt of this question paper.

Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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SECTION A (WUs )

Convert decimal number 37 into equivalent binary and hexadecimal numbers

and verify. (2)

Diagrammatically explain the interaction of functional components of a

computer system. (6)

“Computer applications are interface between users and the computer

system.” Elaborate. (6)
OR

Use 2’s complement to solve the following arithmetic problem in binary
(+18) + (-15) 2)
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What is an operating system ? Explain its functions. 6)

“Advantages outweigh limitations of computers.” Discuss. ©6)
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SECTION B (wus &)

What do you understand by the terms attribute, entity, relationship and
integrity constraints in relational database systems ? 6)

Explain the importance of Executive Information System for tactical decision
making. (6)

OR

How Transaction Processing System is core to all Information Systems ?

(6

With respect to a commercial organization the following observations are
made :

* Each employee works under one of several departments;

* Each department is headed by a manager;
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Employees work for different projects;
The employees working for a project may belong to different departments;

Each employee carries a fixed hourly rate that is used to apply the labour
cost to the project for the number of hours the employee works in that

project.

You are required to analyse and conceptualise above organizational reality

using ER model and depict the same as ER diagram. 6)
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SECTION C (@vs )

What is meant by network topology ? Briefly mention the basic network

topologies. (6)

Diagrammatically explain how web-based mail works ? You may use block

diagram. " (6)
OR

“Bridges, routers and gateways are essential for network-based
communication.” Explain.

“The Domain Name System used for websites on the Internet facilitate faster
search and downloading.” Explain.
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